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E + (n)
= E+ x)

Va() + Ex(1 = Vo + Ex()

mgh + Emv = mghz + Em . V.

2 . 10 . 5 +Ex 20 = 1200 + 1 - 2 . V

Vz = 10 mis

Uz = mgh = 2 . 10 - 5 = 1005

E +
= Vo + Ex = 1005

Ex = E . m .v = 05

100=a
+ Ex

Ex = 100

E . m . v = 100

V = 10 m/s
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Vo = mgh = 2 . 10 . 100 = 2000 -

E+
= Va + Ex = 2000 + 400 =

24005
Ex = Emv" = 2 . 2 . 202 = 4005
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E+=a
+ Ek

2400=2 . Va

V=0
= 48 . 98 mys
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h = 60m

Vo = mgh = 2 . 10 . 60 = 12005

E +
= Vo + Ex = 2400

1200 + Ex = 2400

Ex = 1200 = 2 . m .v

1200 = 1 . R. v2

V=200 = 34 . 64 mis
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E + (1)
= E + (2)

Ex() = Va(z)

&mVi = mgha

I . 2 = ga

2 . 302 = 10 . k

h = 45 m
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